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Problem 5 – Blue balloon 

Word Sums 

You've all seen this type of puzzle before: two numbers and their sum are expressed as letters 

of the alphabet, and you have to find their numeric values. For example 

  hello 

+ there 

------- 

  world 

can be solved to yield 

  56442 

+ 15606 

------- 

  72048 

In other words, to each letter of the alphabet found in the original puzzle you must assign a 

digit 0 through 9 so that the resulting sum is correct. The following rules apply: 

1. Each number (0-9) may only be assigned to a single letter, i.e. if 5 is assigned to 'a', 

then no other letter may have the value 5. 

2. The leading digit of any of the three terms may not be zero. 

3. All values you are presented with will fit in a 32-bit variable, i.e. the longest word will 

have fewer than 10 letters. 

Some of the puzzles may have more than one solution. In these cases, you have to give 

preference to the solution with the smallest digit in the least significant position of the first 

addend. If there's more than one such solution, you must prefer the one with the smallest 

digit in the least significant position of the second addend. Should there still be more than 

one solution, you pick the one with the smallest digit in the second least significant (10s) 

position of the first addend, and so on. 

Return only one solution, that is, the one complying with the above constraints; or, return the phrase “No solution” if no solution exists.

Sample Input:  one problem (of three words) per line

hello there world 

i am nuts 

Sample Output:   echo the input and solution in the following format

hello + there = world -> 56442 + 15606 = 72048 

i + am = nuts -> No solution 
